> B sl | resir s iamre
;_, 3F |0 250 # st 2 n 1762-02-01
W KRR
¢ EAFI0TE 40 A
b2
T ERE S P By ik () H# ()
PN [RR SN
4, i 79.810 79.989 12,566 688 3.954 3,044
AT 9.995 9.978 3.936 92 13 31
T 2,601 17.393 64 166 10 —
F 13,505 2.268 841 21 ~ 451
i ¢ 3 6.350 11.456 2,667 49 — 126
i3 3 11,748 1,145 934 42 3 119
3z o 9,566 9.094 1.478 53 13 106
T 25,214 28,190 2,555 253 3,886 1,740
5 W R 1,064 5,842 10 12 11 6
AT BB 2,649 1,492 213 17 1 49
v R B 2.982 1.687 57 14 346
i i B 4,319 2.723 372 20 3,601 531
3 % B 335 2.493 65 21 1 78
2tk & 5.347 1,204 173 16 14 119
L & K 3.660 8 33 9 — 77
R 1,014 3,753 244 18 212 —
£ 4B 159 2.003 130 26 4 366
= R 551 3,408 47 31 — 20
B B g 267 586 135 2 28 76
T 176 1,444 276 35 14 34
R 899 1,528 406 14 — 38
£ & 3 1792 19 394 18 — —
B = 4 378 42 61 12 24 180
£ P B 237 39 4 9 15 169
@i B 141 3 57 3 9 11
W F R 453 203 30 — — 1
A B 112 3 7 - — —
3¢ B 260 25 4 — — 1
3oz B 81 177 15 — — —
i~ & — 18 4 — — =
i % % 1 £33 F 4R AT S FIL07& 57 24p 16:57:49 £ 4l
A pragt 4R
TR kR 2L e RO ORI R~ ERERFP R TR, AR %
HARP D ALd A F LT HRKEHEUIN2E > ERPE IR p 30 1PEAMFLIFZ > AFAFZ R PERRE T BN AN T HE -


http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=0)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=0)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=0)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=0)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=0)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=0)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=6500000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=6500000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=6500000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=6500000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=6500000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=6500000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=6300000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=6300000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=6300000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=6300000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=6300000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=6900000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=6900000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=6900000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=6900000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=6900000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=6600000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=6600000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=6600000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=6600000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=6600000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=6700000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=6700000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=6700000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=6700000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=6700000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=6700000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=6800000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=6800000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=6800000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=6800000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=6800000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=6800000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1000000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1000000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1000000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1000000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1000000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1000000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1020000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1020000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1020000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1020000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1020000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1020000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1040000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1040000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1040000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1040000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1040000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1040000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1050000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1050000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1050000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1050000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1050000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1080000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1080000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1080000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1080000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1080000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1080000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1090000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1090000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1090000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1090000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1090000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1090000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1100000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1100000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1100000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1100000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1100000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1130000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1130000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1130000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1130000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1130000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1140000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1140000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1140000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1140000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1140000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1140000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1150000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1150000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1150000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1150000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1150000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1160000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1160000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1160000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1160000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1160000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1160000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1170000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1170000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1170000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1170000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=1170000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1170000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1180000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1180000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1180000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1180000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1180000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=1200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=9)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=9)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=9)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=9)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=9)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=9)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=9200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=9200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=9200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=9200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=9200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=9200000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=9070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=9070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=9070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=3ac4=9070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=4ac4=9070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=9070000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1510000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1510000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1510000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1520000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1520000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1520000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=9ac4=1520000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=11ac4=1530000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1530000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1530000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=12ac4=1540000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12a( ( c1=2ac4=1540000)))))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#
http://172.22.1.85:8080/statis/stmain.jsp?sys=239&sql= (( ( y=107am=4))a( ( f=0217622040 ac1b2a12)))#

